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Question No. 1

& 715 Ay A7 e Poger 2

C) D)

How many triangles are there in the given figure?

A B).o
24
0) D)
16
20
Answer Key : D Your Response : D (Correct)

Question No. 2

Top



39 W #, UF YA F A fasnd Ru aw §1 39 w6 7 g o arfes v & q9d 39geT &

HYeT:

3FIGaRt @ 27 & 32 af i 3 F Far St AR Bramier g aRwl

s
. 27 WS ¥ FA 3G F AR FotiareT A& @

II. 32 9% & 3fF g F =aFa gar 7 B &
AyFae fsHy | 3uged gl B)aT & fasany | 3K & & Il 3ugFT &

C)Fael fIswy |l 3uged &l D)ar faisay | 3R 1| 3uged g

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
Candidates should be young, energetic and dynamic in the age group of 27 to 32 years.

Conclusions:
I. Persons below 27 years are not energetic.
Il. Persons above 32 years are not young.

A)Only conclusion | follows B)Neither conclusion | nor Il follows
C)Only conclusion Il follows D)Both conclusions | and Il follow
Answer Key : B Your Response : B (Correct)

Question No. 3

gfe 'ROPE' &Y 6821 for@r airar &, 3iX 'CHAIR' & 73456 for@r Sirar &, af 'CRAPE' &I &3 fa@r sem?
A)77246 B)76421
C)77123 D)73456

If 'ROPE' is coded as 6821 and 'CHAIR' is coded as 73456, then what will be the code for 'CRAPE'?

A)77246 B)76421
C)77123 D)73456
Answer Key : B Your Response : B (Correct)

Question No. 4

Top



39 W #, U YA F A fasnd Ru aw §1 39 fAswd @) 7 g o arfes v & a9 39geT &

HYe:

TF gfear o I § 3R o & gt udF aneer e T v g s ¥

fasy:

. & Al # I gfAar redr T B

Il. & dt B I gfaar g ek

A)err fasey | 3R 1 3ugeEa B B)&ad fosehy | 3ugerd gl
C)ar ar frsay | a1 ar Il 39y ¢l D)&hadt fasay || 3uged gl

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
This world is neither good nor evil; each man manufactures a world for himself.

Conclusions:
I. Some people find this world good.
Il. Some people find this world bad.

A)Both conclusions | and Il follow B)Only conclusion | follows
C)Either conclusion | or Il follows D)Only conclusion Il follows
Answer Key : A Your Response : Not Answered

Question No. 5
W HIfae: 0.004 x 0.5
A)0.02 B)2
0o0.2 D)0.002

Simplify: 0.004 x 0.5

A)0.02 B)2
C)0.2 D)0.002
Answer Key : D Your Response : D (Correct)

Question No. 6
tafy Tt & GEce GaRT 3cdeet Eafey FY GeRIgiod AT FEAT 87
AR Byl
Q)algT D)wfaeafer Top



Repetition of sound produced by reflection of sound waves is called-

A)Noise B)Note
C)Double D)Echo
Answer Key : D Your Response : D (Correct)

Question No. 7
T gHAONT RS F1 IR 16 5HE RwoT arar v @7 ¢ suh fode o 17 3918 ¥ sEr SR
FAg AT AT
A)12 B)15
Q)30 D)25

The base of a right pyramid is a square with diagonal 16 units. Its slant edge is 17 units. What is its vertical
height?

A)12 B)15
C)30 D)25
Answer Key : B Your Response : Not Answered

Question No. 8
AR F 3% AT & AT et & HETIT F FAT Fgl A &7
INECANIS DEINISI
C)FellgACIelS D)TectATellSil

The study of relationship of animals with their environment is called-

A)Ecology B)Ethology
C)Climatology D)Entomology
Answer Key : A Your Response : A (Correct)

Question No. 9
o9 R Fgohe o, dle urg & @ AR war §, O gl awe ag # AR @ar ¥ Iw
fArafaf@a 7 ¥ Sl @ 3R 82
A)3ages 3TaAfRar B)@dister JifAfeRar
C)ueher TaeeTeT 3ifdfHar D)efafaeaTde Hf@fmar

When copper sulphate solution reacts with iron metal, copper metal is formed. Which of the following
reactions is this?

A)Decomposition reaction B)Combination reaction
C)Single displacement reaction D)Double displacement reaction
Answer Key : C Your Response : A (Wrong)

Question No. 10

TEAHA -2, ARG & & 3[HY U6 e HWereer (DRDO) @Rt RFfia wa gl

ABATAEATH ¥ AR &el arell [AdSS B)goh dolel ATl ITeT

C)#ATAT g ofstR A D) fAasa &P

Rustom-2 is a/an developed by India's Defence Research and Development Organisation
(DRDO).

A)Air-to-Air missile B)Light weight vehicle

C)Unmanned Combat Aerial Vehicle D)Anti-missile tank Top



Answer Key : C Your Response : Not Answered

Question No. 11

& 3R ar e &1 ufeufa & goe & THRA Fl

AT B) CelToHT

C)Jahrar Fair D)Rrezd

The Sun and the stars glow because of the presence of in them.
A)Gases B)Plasma

C)Light energy D)Electricity

Answer Key : B Your Response : A (Wrong)

Question No. 12

IHFIST o SRS F RAgia & @ F 915 Fr [AURT Brar ar?
ATY Fr gar BRI H B H Tl & gl
C)STereT & f3amger &I 3raurom D)UASseT & f3ammget & raeom

What did Archimedes determine after discovering the Archimedes principle?

A)Purity of milk B)Purity of gold in the king's crown
C)Design concept of ship D)Design concept of submarine
Answer Key : B Your Response : C (Wrong)

Question No. 13
ISRO & 2019 # A=faf@a # ¥ fF9 UeT 7 AT 3HdReT 339 Fg TRT R &2
AFTTE B)dwetg
Qq s DRI

In which of the following cities has ISRO launched Human Space Flight Centre in 2019?

A)Bengaluru B)Chennai
C)Mumbai D)Hyderabad
Answer Key : A Your Response : Not Answered

Question No. 14

fArfaf@d Sl & ufeyd 3R FFg F AT H

VA, ND, (.), DP, BY
A)TU B)SE
OHI D)NR

Find the missing group of alphabets in the following series.

VA, ND, (...), DP, BY

A)TU B)SE
C)HI D)NR
Answer Key : C Your Response : Not Answered

Question No. 15

Top



AT 3R APET o ARdT Fenfa uewr & Ry §2
A)TreTedT B)e#HeT 3R Qa
C)31vsaAET 3R AR D)daTTe

Amindivi and Minicoy are parts of which Indian Union Territory?

A)Lakshadweep B)Daman and Diu
C)Andaman and Nicobar D)Chandigarh
Answer Key : A Your Response : Not Answered

Question No. 16

ffaf@d Seert @ e § 93 3R S QT a1e s &1 3w &)

S A A B, C,D,EF,GINHwEARTF Rr tw ARk AT R g M 3N Az A &1 A G
¥ g% 3N qEY T W ST § St B & & 3N WY T W ST §1 D, F & 915 3R g@Y U | ST §
NGIRAFfTHF TR C, BATE &F F91ed 7 AT a7 &1

B & & a1 3K i dor &7
AH B)D
QE D)C

Read the following information carefully and answer the question given below.
Eight friends—A, B, C, D, E, F, G and H are sitting around a circular table for a meeting facing center. A is
second to the right of G who is third to the right of B. D is second to the left of F who sits between G and A. C

is not a neighbour of B or E.

Who is to the immediate left of B?

A)H B)D
C)E D)C
Answer Key : A Your Response : A (Correct)

Question No. 17

10ar gRae JRTET veieh R aeee "$fE3ar &7 2018" fFe e & 3o fmar s/ ar?
A)DIABTAT B)feeel
C)dets D)

In which city was the 10th Biennial International Exhibition and Conference “India Chem 2018 held?

A)Kolkata B)Delhi
C)Chennai D)Mumbai
Answer Key : D Your Response : Not Answered

Question No. 18

rfafRd & & R 39T veRigage (Ales) 99 7 R Sar ¥?

A)RYATE B) YA
C)waAter D)sgeHld

Top
Which of the following is used in alcoholic drinks?



A)Methanol B)Ethanol
C)Propanol D)Butanol

Answer Key : B Your Response : B (Correct)

Question No. 19

3 W #, & Fal F a1 ar frsend R 1w §) 37 fAswd (6f) @ 9o o arffee w7 & et sugE &

fel:
1) Wt Get, AHAS &

2) S AFGT, oleeT Tar gl

oS

|. FS G, et 78T B

II. T A, B §

A)dad fasey | 39ged Bl B)aT df sy | & & Il 39gad gl
C)ad fasay || 3uged gl D)arr forsay | 3R Il 39ged £

In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best

fit(s) logically.

Statements:
1) All flowers are candles.
2) No candle is lantern.

Conclusions:
I. No flower is lantern.
Il. All candles are flowers.

A)Only conclusion | follows B)Neither conclusion I nor Il follows
C)Only conclusion |l follows D)Both conclusions | and Il follow
Answer Key : A Your Response : A (Correct)

Question No. 20
farT = # @ FleT A1 g THER @R T, TR AT I=r 3R ST @ ar?
A)Y TTeTET B)&raRe &Y
OB 3T W K D)HARGH &R

Which of the following taxes was levied, collected and retained by the Central Government?
A)Land revenues B)Corporate tax
C)Taxes on agriculture income D)Entertainment tax

Answer Key : B Your Response : Not Answered

Top



Question No. 21

Af9gH fir WATOashar T §?
AU URHUT & B)S§ IRATU[H
C)afa qTHAH D) oHATI®

What is the atomicity of Helium?

A)Mono atomic B)Polyatomic
C)Di atomic D)Tri atomic
Answer Key : A Your Response : A (Correct)

Question No. 22
@I’WH@B#H?I’%‘.ZOOW@'E\T@'WW%,W#WQTW%FITST?IHT%’,WE@?WW%
#r gy et ¥ g Sfoera g1f ar amer wa Aol
A)19% TTH B)29% TTH
C)2% gIfer D)1% grfar

Two identical items are sold for Rs.200 each, with 10% gain on one but 10% loss on the other. What is the net
percentage loss or gain?

A)1% gain B)2% gain
C)2% loss D)1% loss
Answer Key : D Your Response : A (Wrong)

Question No. 23
TH Soih & T a0 gdemor &, Jg 9—r =T F 50% WRT A AHG TARR 9T Yed &, 40% 9T B A#E
AR 99 Ued §, 3 20% 7 o TR 99 A 9 § 3R 7 & §AER 97 B ged €1 IR A 3R B, Q=F
HAMR 99 9Yge! aTal Sgfaradr $r §&ar 500 §, o fraer @it @r adetor fBxar s/ ar?
A)7000 B)3000
C)4500 D)5000

In a survey conducted in a locality, it was found that 50% read newspaper A, 40% read newspaper B, and 20
% read neither A nor B. If the number of persons who read both A and B is 500, then how many persons were
surveyed?

A)7000 B)3000
C)4500 D)5000
Answer Key : D Your Response : Not Answered

Question No. 24
et & & #la @1, AT F g # Bl e a1 & v Aot dee # @I arer w82
A) 3T B)aRaT &
Q)31Ta fea D)3fTac el

Which of the following is the time taken for one complete oscillation of a sound wave in the density of the

medium?

A)Amplitude B)Wavelength

C)Frequency D)Time period

Answer Key : D Your Response : D (Correct)

Question No. 25 Top



Rt dca F WA FHIw, AHE F Al AT e & e g

A)sereiar 3R drelar B)#Igielr

C)gererelat D)verat

Atomic number of an element is equal to the number of ____in the nucleus.
A)Electrons and protons B)Neutrons

C)Electron D)Protons

Answer Key : D Your Response : D (Correct)

Question No. 26

afe #$ TR 20 ast F 4 = & e & A TR s fr 7 AT
FT?

A) B)

15% 20%

) D)

1
132% %

If a sum becomes 4 times in 20 years what is the rate of simple interest

given?
A) B)
15% 20%
C) D)
1,
135 "o 10%
Answer Key : A Your Response : A (Correct)

Question No. 27

famt F & i ar A Re aw F&y 7 @@ aF F r Feme

FDA : MKH :: QOL : ?
A)XSV B)SVX
aQuz D)XVS

Top



Which of the following will best complete the relationship given below?

FDA:MKH: QOL:?

A)XSV B)SVX
C)Quz D)XVS
Answer Key : D Your Response : D (Correct)

Question No. 28
IS QPR I T Tge SIRCAT Featol et 7
AT F. Tt B) T oG SeRTH
C)deleT Hestl D)sReter T8

Who was the first Indian footballer to receive the Arjuna Award?

A)P.K. Bannerjee B)Tulsidas Balaram
C)Sailen Manna D)Jarnail Singh
Answer Key : A Your Response : Not Answered

Question No. 29
3 ¥ el @ arelr 3 3t $r Rl HEAw §?
A)98 B)100
Q97 D)99

How many 3 digit numbers are divisible by 3?

A)98 B)100
C)97 D)99
Answer Key : This Question is dropped and

Your Response : B
will not be consider during the evaluation

Question No. 30
ST TG F R Fle @ AT = Raa g3 A1
A)SUTSd ITSERAERAT B)ue A msaifiRaidEae
C)fAuser 3T D)TIfsT#d 3msadaasse

Gas leaked during Bhopal tragedy was-

A)Ethyl isothiocyanate B)Potassium isothiocyanate
C)Methyl isocyanate D)Sodium isothiocyanate
Answer Key : C Your Response : C (Correct)

Question No. 31

T I gAt R & % widg A2
AT B)@feca
Qg D) RrFerr

Raja Ravi Varma was famous in the field of-

A)Dance B)Literature Top



C)Music D)Painting

Answer Key : D Your Response : Not Answered

Question No. 32
TF {d ARG RN F RAeded AR sreaae & fav RfFciT-seEt (@fer-eere) @ w=r 82
A)rar Afzear B)faervor
C)3fterercar D)3ffercr

What is the medico-legal name given to the dissection and study of a dead human body?

A)Causa medico B)Analysis
C)Autolepsy D)Autopsy
Answer Key : D Your Response : D (Correct)

Question No. 33

Foft a1 qot Y|

0.7, 0.75, 0.85, 1, (.)
A)1.2 B)1.6
1.8 D)1.1

Complete the series.

0.7, 0.75, 0.85, 1, (...)

A)1.2 B)1.6
C)1.8 D)1.1
Answer Key : A Your Response : A (Correct)

Question No. 34

feafaf@a & & Fia & arg acat Fr e FRo F Algg FE g a1g 87
A)vegfafaas B)elfag#

o

C)ersefaasd D)#Fe=A s

Which of the following metals is the lightest in the periodic table of elements?

A)Aluminium B)Lithium
C)Titanium D)Magnesium
Answer Key : B Your Response : A (Wrong)

Question No. 35

1
afxx =3 @ X+ AT AT A

Top



123 129

119 14

. 1
If x % =3, then find the value of x* +—.
X

A) B)
123 129
C) D)
119 14
Answer Key : C Your Response : C (Correct)

Question No. 36

HHAFIOT FT T A & fAT Fvedt & & Regt &1 @@ Fa T4

18 - 5 x 50 = 40
A) - X = B)Xl ="
C)=, - X D)XI =

Choose the correct order of signs from the options so as to make the equation correct.

18 -5 x50 =40

A)-, X, = B)x, =, -

C)= - x D)x, -, =

Answer Key : D Your Response : D (Correct)

Question No. 37
e AEFHN @ ARd # PR A5 Fetac INAST Y& Far =
A)FAET TlieT B)w= fi
OECEIC GIRCH D)3Rfde shordrarel

Top



The Fiber Grid internet system was introduced by which Chief Minister in India?

A)Manohar Parrikar B)Raman Singh
C)Chandrababu Naidu D)Arvind Kejriwal
Answer Key : C Your Response : Not Answered

Question No. 38

R T YgelT AT 3T Fiel AT AUT?
ASH DI T I 3T B)TegT ISET 3T
C)&TlET IS 3T D)X Is¢ 3¢aTeT

Which was India’s first National Park?

A)Jim Corbett National Park B)Kanha National Park
C)Kaziranga National Park D)Gir National Park
Answer Key : A Your Response : Not Answered

Question No. 39

AT R #F Reged 37 Faf fua @ &2
ATE & MY W B)3fid |
C)Teligl(spleen) & 9r&@ D)ARETS® & dof W

Where is the pituitary gland located in the human body?

A)On the top of kidneys B)In the intestine
C)Near the spleen D)At the base of the brain
Answer Key : D Your Response : D (Correct)

Question No. 40
24 ¥+ S 3R 1 @ A arer W doe & AT F e @R F 3R 96T ¥l SHHT iaRe vd
g BT &1 9@t AT i)
A)7 Ht B)5 Tt
Q)4 Tt D)3 I

Volume of material used in constructing a hollow cylinder of height 24 cm and thickness 1 cm is 961. What is
the sum of the internal and external radii?

A)7 cm B)5 cm
C)4 cm D)3 cm
Answer Key : C Your Response : C (Correct)

Question No. 41

Rw 1w et & & 3rera & g+
A)OQS B)WYZ
CPRT D)HJL

Find the ODD one out from the given options.

A)OQS B)WYZ
C)PRT D)HJL
Answer Key : B Your Response : B (Correct)

-
Question No. 42 op



AH q FiT AT gl AT W@d F AT Hr AET F AT Far 82
A) TSl B)¢TeIEe0=T
C) Al D)gq ot

Which hormone regulates the amount of sugar in human blood?

A)Estrogen B)Testoterone
C)Parathormone D)Insulin
Answer Key : D Your Response : D (Correct)

Question No. 43
X3 + 5x2 - 2x - 24 H UF LIS X = 2 Bl I LA AT AT
A)-3,-4 B)-3,5
0-2,-3 D)3, 4

X3 + 5x2 - 2x - 24 has a zero at x = 2 . Find the other zeros.

A)-3, -4 B)-3,5
C)-2, -3 D)3, 4
Answer Key : A Your Response : Not Answered

Question No. 44
Ifg tan a = 1/2, tan B = 1/3 @ a + B F AW AT AT
A)0° B)45°
C)90° D)135°

If tan a = 1/2, tan B = 1/3, then find a + B.

A)0° B)45°
C)90° D)135°
Answer Key : B Your Response : Not Answered

Question No. 45

"FIINT TATAG' T YTeled a7 dlel Ygel ATdd P A?
A)HgTcAT el B)dfdg socldT
C)TER TedAHHS e D)fa=iraT H1a

Who was the first person to observe 'Individual Satyagraha'?

A)Mahatma Gandhi B)Govind Ballabh Pant
C)Sardar Vallabhbhai Patel D)Vinoba Bhave
Answer Key : D Your Response : Not Answered

Question No. 46
AT & IMF AT F v RAeff@a F & frasr 3waer fFar ST aar 872
A)dd B)HTTGH
C)dwgfaar D)D.D.T

Which of the following can be used for biological control of mosquitoes?
A)OQil B)Ointments
C)Gambusia D)D.D. T

Answer Key : C Your Response : C (Correct)

Top



Question No. 47

6 THT 3T aTel WAV FT TG AT HorT?

1085 HHE 64./3 THA

54./3 AP 72./3 BHEP

Whatis the area of a regular hexagonof side 6 cm?

A) B)
108+/3 em? 643 cm?
C) D)
54./3 cm’® 72./3 cm?
Answer Key : C Your Response : Not Answered

Question No. 48
P, Q, R 3R S, frelr 1\ #r 20 foit & g &Y &l &1 IS P 3 Q et 33 50 et & g & Fhal €
3R R 3rFer 3@ 60 et # G FT Fehvem 8, A S bl 50 fvcer Rt 7 QU F FewaT B2
A)60 B)75
Q)65 D)90

P, Q, R and S can do a piece of work in 20 days. If P and Q together can do it in 50 days, and R alone in 60
days, then in how many days can S alone do it?

A)60 B)75
C)65 D)90
Answer Key : B Your Response : B (Correct)

Question No. 49
9 T H§E&AT 234 ¥ Rfaa @ §, aF A9her 36 9T 1 39 FE&Ar A 13 ¥ ST e W AVGT =T
Aem?
A)6 B)11

09 D)10 Top



A number when divided by 234 gives the remainder 36. What will be the remainder when it is divided by 13?

A)6 B)11
C)9 D)10
Answer Key : D Your Response : D (Correct)

Question No. 50

A 3R B T 31T 4 : 3 &1 6 a¥ are, A Fr 31 26 a¥ gl B A oAt Iy frcelr 872

A)12 B)18
Q)15 D)9

A's age : B's age is 4 : 3. After 6 years, A will be 26 years. What is B's present age?

A)12 B)18
C)15 D)9
Answer Key : C Your Response : C (Correct)

Question No. 51
et gfaad #1 f@ae Shas are g IR &g Rest il 47
A AT AT B)HAIAI AT
C)vyHde D)HAIER 35T

Who was the first Indian bodybuilder to win the Mr.Universe title?

A)Moloy Roy B)Monotosh Roy
C)Prem Chand D)Manohar Aich
Answer Key : B Your Response : Not Answered

Question No. 52
AeE R # 9 S arelr g veATT Oeft Fler A B, S At RARE oX e A Al 87
A)SItY B)gfafes
C)3rradar D)RRREF

Which is the only muscle in the human body that is NOT attached at both the ends?

A)Tongue B)Biceps
C)Adductor D)Triceps
Answer Key : A Your Response : Not Answered

Question No. 53
AT FT & BF@ a7 F 9o eafey F IHgAR FOT gar 87
ATR B)&uTarfer(Pinna)

C)&gur df¥sr(Auditory nerve) D)&uTed! fSreal(Tympanic membrane)

Which part of the human ear vibrates according to the sound received?

A)Hammer B)Pinna
C)Auditory nerve D)Tympanic membrane
Answer Key : D Your Response : Not Answered

Question No. 54
9 i g dig s &ar § ar 38 F41 Fgr ST 82
A)3TTEIT T AT B)3teTaeg
OU g D)3+=IdleX dg (Gibbous moon)

Top



When a three quarter moon is visible, what is it called?

A)Half moon B)Crescent moon
C)Full moon D)Gibbous moon
Answer Key : D Your Response : B (Wrong)

Question No. 55

g TRy €& &1 1/7, &1 ¥ 9™ Aar §, dF 9Rune §@ar ¥ 30 FH T &1 66 A fifew|
A)120 B)140
0)210 D)105

If 1/7 of a number is subtracted from the number, the result is 30 less than the number. Find the number.

A)120 B)140
C)210 D)105
Answer Key : C Your Response : C (Correct)

Question No. 56

1 1 1 1 1
e S N

——+ + + +....
1x2 2x3 3x4 4x5 5x%6 9x10

FT AF AT HiTaT]

1/10

[ Rw]
L2
e

1 1 1 1 1 1

; . Nele . . gl
Find the value of 1x2 93 3xd  4x5 Bx6 9x10

A) B)
9/10 5/11
C) D)
2/5 1/10
Answer Key : A Your Response : D (Wrong)

Question No. 57

R T et # & i A o) Top



A9 B)13
Q7 DN

Find the ODD one out from the given options.

A)9 B)13
C)yr D)11
Answer Key : A Your Response : A (Correct)

Question No. 58
(2x32x5x7),(22x3x52x7) 3 (2x3x5x 7)F AHILCM) T o]
A)7200 B)8400
C)9000 D)6300

Find the LCM of (22x 32x5x7),(22x3x52x7)and (2% 3 x5x 7).

A)7200 B)8400
C)9000 D)6300
Answer Key : D Your Response : D (Correct)

Question No. 59
s faRaa FHeHTST #, 'ITNIETAM' & 'INTIMATE' for@r Sirar g1 34t HeATST # 'TREVNIETARBI' &t &% forar
SRE?
A)INVERTIBARTE B)INVERTIBRATE
C)INVERTIBRETA D)INVRETIBRATE

In a certain code, 'ITNIETAM' is coded as 'INTIMATE'. How will TREVNIETARBI' be coded?

A)INVERTIBARTE B)INVERTIBRATE
C)INVERTIBRETA D)INVRETIBRATE
Answer Key : B Your Response : B (Correct)

Question No. 60
30 ey & 799 F, A P H 9T Ted (7) F WE WG
e % fore wafeasm s9gea &l

144! 49 | 36 | 25 |
529196 ? | 42
961256121/ 58

A B
) )30

[ R]
[}

Top



Choose the altermative that best replaces the question mark(?) in the

given figure.
144 49 | 36 | 25
529|196, ? | 42
961|256 121| 58
A ¥ 30
34
C) D) 25
32
Answer Key : D Your Response : Not Answered

Question No. 61

39 g IA F oA S ol QU 9T I F FA Hay R

IR G
A)fseelr : cerer B)HRAT : ATeR
OSIgR : ’id D)car : T

Choose the pair in which the words show the same relationship as in the pair given below.

Cholera : Water

A)Cat : Plague B)Malaria : Mosquito
C)Poison : Death D)Medicine : Disease
Answer Key : B Your Response : B (Correct)

Question No. 62

fRw arw Sofr & s FEwr A g
12, 18, 27, 42, 62, 87

A)18 B)27
Q42 D)87

Find the wrong number in the given series.

Top
12, 18, 27, 42, 62, 87



A)18 B)27
C)42 D)87
Answer Key : A Your Response : D (Wrong)

Question No. 63

T & F FlF 1 mA fr AT F R 2?2
A)10 3A B)10 3A
Q10 A D)10 A

Which of the following is equal to a measurement of 1 mA?

A)103 A B)10° A
C)108A D)10° A
Answer Key : A Your Response : A (Correct)

Question No. 64
P, Q 3R R fel %@ @ FaAw: 15, 20 3R 30 Rl # Q@ & Fhd &1 SheR FH T STeql TWeH Hlel &
T 37 ¥ Pl & A FH W W F haer T §1 507 F Fi a1 RAFeq Q@ 3=aT §7?

A)TTTI PQ AT QR B)QR

C)RP D)PQ

P, Q and R can do a work in 15, 20 and 30 days respectively. The contractor decides to put any two of them
on the job so as to finish the work earlier. Which of these choices is the best?

A)Either PQ or QR B)QR
C)RP D)PQ
Answer Key : D Your Response : D (Correct)

Question No. 65
P 3R Q, 120 leX & T FeadbR ART & IRT 3R FA g & FAT fwr 7 20 #Aev RAee ik 12 dev
fRete &7 arer § U AT s Y I §1 F e Fgat w e
A)2 B)1
Q4 D)3

Around a circular track of 120 m, P and Q start running simultaneously from the same point in the same
direction at 20 m/min and 12 m/min. At how many points will they meet?

A)2 B)1
C)4 D)3
Answer Key : A Your Response : B (Wrong)

Question No. 66
sin(180° - ©) cos (90° - ) - cos (180° - 6) sin (90° - 6) & A AT HIfATI
A)cos © B)1
Otan © D)0

Find the value of sin(180° - 8) cos (90° - 8) - cos (180° - 8) sin (90° - 8).

A)cos 0 B)1
C)tan 0 D)0
Answer Key : B Your Response : B (Correct)
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AIEH TH gl
A)HaH B) AR
C) 3aUdD U D)ulen

Mushroom is a/an-

A)Fungus B)Animal
C)Slime mould D)Plant
Answer Key : A Your Response : A (Correct)

Question No. 68

sirsteT #r IURRYTT T WEToT et F AT 3BT &1 39T fFar ST gl
A)aT B) faerfae

C)aérT D)¥err

lodine is used to test the presence of in food.

A)Fat B)Vitamin

C)Protein D)Starch

Answer Key : D Your Response : B (Wrong)

Question No. 69
3T SeaR fRm A 3R 4 Bl gk ¥ 3R O R {3 ol §) 2 Bl gew & arg, 9 o SR Ash ¥
3R 5 Rl il 1 g Yo3neh foig & e fwm 7 @ 82
A)cfaror qfegH B)3ccR 9iRa#H
C)3eeR 9d D)efaror g

Anitha walks 4 km towards north direction and turns left. After reaching 2 km, she turns right and walks 5 km.
Which direction is she standing from the starting point?

A)South west B)North west
C)North east D)South east
Answer Key : B Your Response : B (Correct)

Question No. 70

tafel T 1 3 R X AR e 82
A)TET & T[0T B)a®q hr @rHalr
Claeg prdr D)a¥q H HUA el & T gy Tt

The amplitude of the sound wave depends on the-

A)Object's quality B)Object's material
C)Object's temperature D)Force with which an object is made to vibrate
Answer Key : D Your Response : Not Answered

Question No. 71

P, Q 3R R #r 31 4: 7: 9 & 30 & &1 8 a¥ Ugal, R 9 3Y, Q Fi TiAT 3 F R A| qA=T F

3T HY T AT ekl 82
A)50 B)80
0100 D)60
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Ages of P, Q and R are in the ratio 4 : 7 : 9. 8 years ago, the age of R was Q's present age. What is the sum
of their ages at present?

A)50 B)80
C)100 D)60
Answer Key : B Your Response : Not Answered

Question No. 72

T AT H 9RA & AT qdF s9= arelr gelm ey Aefaf@a 7 & i ar?
A) DT STRATY B)gIue eMereT
OF#Aa &g D) RET 3R

Who among the following was the first cricketer to score a century for India in a test match?

A)Lala Amarnath B)Deepak Shodhan
C)Hanumant Singh D)Surinder Amarnath
Answer Key : A Your Response : A (Correct)

Question No. 73

afsar v A &, S F yenlAd FA B
ATE B TS
Qs D)#afEdss

Arthritis is a disease that affects the-

A)Kidneys B)Lungs
C)Joints D)Brain
Answer Key : C Your Response : C (Correct)

Question No. 74

Rw 1w et & & e @ g
A)159 B)177
0121 D)153

Find the ODD one out from the given options.

A)159 B)177
C)121 D)153
Answer Key : C Your Response : C (Correct)

Question No. 75
4% 3R 6% ¥ omeT W frdr 9wy & fshr Feal F i Ty 7 IR .3 §1 & ¥y {2 F g gar FL
A)52:53 B)51:53
(0)52:55 D)51:52

The cash difference between the selling prices of an article at a profit of 4% and 6% is Rs.3. Find the ratio of
the two selling prices.

A)52 : 53 B)51 : 53
C)52:55 D)51 : 52
Answer Key : A Your Response : A (Correct)

Question No. 76

3 oW @ GHAT Aa Hioe, e e gt 1 HAex 82

Top



A)1D B)2D
Q3D D)4D

What is the power of a lens whose focal length is 1 m?

A)1D B)2D
C)3D D)4D
Answer Key : A Your Response : B (Wrong)

Question No. 77
ar HEAY 4 : 5 & i F §1 3 THA(LCM) 180 § 3T AT FAIT AT
A)81 B)90
Q70 D)72

Two numbers are in the ratio 4 : 5. Their LCM is 180. What is their sum?

A)81 B)90
C)70 D)72
Answer Key : A Your Response : Not Answered

Question No. 78

Soft &1 qot X

168, 151, 134, 117, (.)
A)82 B)97
Q)95 D)100

Complete the series.

168, 151, 134, 117, (...)

A)82 B)97
C)95 D)100
Answer Key : D Your Response : D (Correct)

Question No. 79

Af@d & ¥ ST 9 &R 6T 82
A)KOH B)NH QH
C)NaOH D)C H OH

Which of the following is NOT a base?

A)KOH B)NH4OH
C)NaOH D)C2HsOH
Answer Key : D Your Response : D (Correct)
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Question No. 80
e FfAT: sin (A + B) sin(A - B)
A)sin’ A -sin*B B)cos® A - cos® B

Q)sin’ A +sin’B D)cos 2A

Simplify: sin (A + B) sin(A - B)

A)sin? A - sin”* B B)cos? A - cos? B
C)sin? A + sin? B D)cos 2A
Answer Key : A Your Response : A (Correct)

Question No. 81
Afaf@a & ¥ 9 a1 g gfcqal F & BT JeT Far &2
INEIEHEC B) FelRi el
0T far D)UTt

Which of the following component imparts green colour to leaves?

A)Nitrogen B)Chlorophyll
C)Urea D)Water
Answer Key : B Your Response : B (Correct)

Question No. 82

selfRiaT 93T T IS J 4T &7
ACaCl , B)CaOCl
Qcdl 4 D)Ca(OH) »

What is the chemical formula of bleaching powder?

A)CaCl, B)CaOCl,
C)CCl4 D)Ca(OH),
Answer Key : B Your Response : B (Correct)

Question No. 83
P 3R Q vs ary e el F@ #1 30 et F g # Fhad &1 Q 3R R T Ay Aot 38 13 7 24
&t & # ¥ &1 R 3R P & tF @ fAes 3@ &1 #F @@ & 7 20 R @@ 3 woft F wF a@y
AR 30 FH F QU e 7 v & o@ar?
A)25 B)8
015 D)16

P and Q together can complete some work in 30 days. Q and R together can do the same in 24 days. R and
P together will take 20 days to complete it. If they all work together, in how many days will the job get done?

A)25 B)S
C)15 D)16
Answer Key : D Your Response : B (Wrong)

Question No. 84
P 3R Q & & uq@ # 5 13 & 3 # B BRaml Q o 6 A a Iwh ol e o afy s
YT ST 25: 26 F I F e fHAT &, A P A IR F Fhc FHET d 3TAT A 75 A7
A)18 HE B)12 #Ee
C)8 e D)15 Fde Top



P and Q invested in a business in the ratio 5 : 13. Q withdrew his capital after 6 months. If they shared their
profit in the ratio 25 : 26, for how long was P's amount used?

A)18 months B)12 months
C)8 months D)15 months
Answer Key : D Your Response : D (Correct)

Question No. 85

Arfaf@d Jeert # e § 93 3R S R a1v st &1 3w &)

3ms - A, B, C, D, E, F, G 3R H o& ga@R A9 & IRt 3R Fifdegw gia 88 §1 30 & ¥ #15 o
Sgolqer, AAfther ST 18T for T wer 3 &N

AAqH i3 TG Fe dlel Shidd & ars AR A TR W AT 1 A F o TR Fi5 THG 6f ol E, H F
AF BE A AT TR C, T ARTF A IR AT T A s R s W gl A AN AR T H
3T a1 JAHT i wHG F §1 N7 §i5 THg A qren AT Folqe TS THG FT AT SAfAd F O
I 7 T T 71 S AfFT ST 73 T 9HG T § 98 E F 8 3N g T W Jo7 ¢ ST w5 9¥g
Fe arel giad daifes 3R diee S5 THg e aId gl SAfFadl & UhGH 99T A doT §| dled S
qHE FA drell cafad B & g% 3 R T W daT §1 B 3fAEr iz gdg #7g Far g1 F, A & 8 o1
& o1 ¥l G 39 AT & TaweH T 7 4T Yor ¥ I T FT Fr G FaT ¥ Ao 1S TG T drer
wfFd 3R H & @i Faa & aer 8 §) O SafFaat @ 3ifasr 3R dswer a5 v § F wgm F A
Tl H IS §

farfaf@a # ¥ Fia A ¥ vagH T8 3R S 872
AD B)H
QG D)B

Read the following information carefully and answer the question given below.

Eight friends—A, B, C, D, E, F, G and H are sitting around a circular table facing the centre. Each one of them
likes different brands of air conditioner—Daikin, Samsung, Blue Star, Godrej, Onida, Panasonic, Voltas and
Whirlpool, but not necessarily in the same order.

A sits third to the right of the person who likes Whirlpool. A does not like Blue Star. E is not an immediate
neighbour of H. C sits on the immediate right of the person who likes Blue Star. Neither A nor H likes Onida or
a Samsung. The person who likes Onida is not an immediate neighbour of the person who likes Whirlpool.
The person who likes Daikin sits second to the left of E. The person who likes Daikin is an immediate
neighbour of the both persons who like Panasonic and Voltas. Person who likes Voltas sits third to the right of
B. B does not like Onida. F is not an immediate neighbour of A. G is not an immediate neighbour of the
person who likes Daikin. Only two people sit between the person who likes Voltas and H. The persons who
like Onida and the Samsung are immediate neighbours of each other.

Who among the following sits on the immediate right of A?

A)D B)H
C)G D)B
Answer Key : A Your Response : Not Answered
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TH ASH TF Coehll W TST § 3R el g F AT 3:45 F AT AW gl ue arelr g§ @ A AW $h
e ¢ 3R Aee arehr g§ oy fr ST F=ehr 31 asar frw far #r 3k H{g R @S 82

A)ETaroT g B)UF

C)3cX D)cfaror afees

A boy is standing at a platform and sees his watch showing 3:45 PM. The hour hand points east and the
minute hand points west. Which direction the boy is facing now?

A)South east B)East
C)North D)South west
Answer Key : C Your Response : D (Wrong)

Question No. 87
IIEr F AT S AT GET WAt WYY acd HheT AT 87
A) 3iTerTsTet B) 3TRA
C)veg#=gH D)fafersla

The second most abundant element in the earth’s crust is-

A)Oxygen B)lron
C)Aluminium D)Silicon
Answer Key : D Your Response : B (Wrong)

Question No. 88

A Foit §AT F Al & ¥ # FFd A F1 39AT BRAr S @, S ggier F e Fehr § AR 3%

ez ¥ fav 3y sardh 82
AERH B)sdferas
C)Raferret D)IwTSC

Which material is used as a moderator in a nuclear power plant that slows down the neutrons and makes
them fit for causing fission?

A)Boron B)Beryllium
C)Silicon D)Graphite
Answer Key : D Your Response : D (Correct)

Question No. 89

gfe 'THRASH' &I 'UGSZTG' fo@r arar &, o 'HEAD' &I & for@r siem?
A)IDBC B)IECD
C)GDzC D)GDBC

If THRASH' is coded as 'UGSZTG', how will 'HEAD' be coded?

A)IDBC B)IECD
C)GDZC D)GDBC
Answer Key : A Your Response : A (Correct)

Question No. 90

el HIST: f25+10./6 ++/25-10/6
Top



55 215
0) D)
50 2.5

Simplify: \/25+106 ++/25-10/6

A) B)
J55 215
C) D)
50 2.5
Answer Key : B Your Response : C (Wrong)

Question No. 91

fearfaf@a Soft & 3R & sea w9 = A9 F

BZ, DV, ES, HN, JJ
A)ES B)BZ
COHN D)JJ

Find the wrong group of alphabets in the following series.

BZ, DV, ES, HN, JJ

A)ES B)BZ
C)HN D)JJ
Answer Key : A Your Response : A (Correct)

Question No. 92



Sof & qut ¥

1, 3, 7, 15, 31, (.)
A)127 B)63
Q47 D)39

Complete the series.

1,3,7,15,31, (...)

A)127 B)63
C)a7 D)39
Answer Key : B Your Response : B (Correct)

Question No. 93
ffaf@a & @ Fla @ 3P, aweaa: Rfea 39RE fr 3uRUA & gaeafa daf F eESeeietor #
39T AT S &7
A)gfaearasr fafear B)JaTcH® 3TTRTRar
C)3ftareanor 3ifRfhar D)fTams 3rfafehar

Which of the following reactions is commonly used in the hydrogenation of vegetable oils using a nickel

catalyst?

A)Substitution reaction B)Addition reaction
C)Oxidation reaction D)Displacement reaction
Answer Key : B Your Response : Not Answered

Question No. 94
IR F$ axG AT T YE FA ¢ AR A Fegper sh ador 7 @), o T4 gew 87
A)TEg FT LT T FHhATI B)a¥q d.3d ¥ Sl &l
C)aEd B S THY d IF I & D)a¥q IS I & |

If an object starts moving and if there is no friction at all, what happens?

A)The object can never stop B)The object stops immediately
C)The object stops after sometime D)The object starts flying
Answer Key : A Your Response : A (Correct)

Question No. 95

TR dfueT ¥ Pafaf@a F @ Sl @ awer Fanfla vt & 6T 82

A)HTTVIII B)HIT VI
QUNTIV D)HIT IX
Which of the following parts of Constitution is associated with the Union territories? Top

A)Part VIII B)Part VI



C)Part IV D)Part IX
Answer Key : A Your Response : C (Wrong)

Question No. 96
& Ferere WX 10% T & W 3 a¥ & Tehqfe saeT 3N FUROT ST HT 3] $.620 grem?
A)%.24000 B)%.25000
C)%.20000 D).18000

On what principal will the difference between Compound Interest and Simple Interest at 10% rate in 3 years
be equal to Rs.620?

A)Rs.24000 B)Rs.25000
C)Rs.20000 D)Rs.18000
Answer Key : C Your Response : Not Answered

Question No. 97

Waﬁrsmamﬁw,wa:ﬁammwwﬁmaﬂ#q@m%l AT PR dh

Tga ¥ 30 frae e weTe €2
A)60 AT B)30 fAee
C)42 faeTe D)45 faee

Travelling at 3/4 of the normal speed, a person reaches his workplace 15 minutes late. How many minutes
does he take usually to reach the workplace?

A)60 minutes B)30 minutes
C)42 minutes D)45 minutes
Answer Key : D Your Response : B (Wrong)

Question No. 98

3 A & 9H H, A FeAfeiag ARt & fiT F dew #7
Fafea® o1 & Fela ST 2l
Heaht, 3ia, o, arar
A) B)
. | §
C) Eare D)

Choose the figure that best represents the relationship among the
classes given below.
Vegetable, Woman, Lion, Parrot
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C) D)

—” .

Answer Key : C Your Response : C (Correct)

Question No. 99

derssw 3R viFeAEsw #r oY g SIrar gl
A3 3 B)|AET dcd
C)3TdRe HHAT ded D)HHHATT ded

Lanthanides and actinides are also called

A)Noble gases B)Normal elements
C)Inner transition elements D)Transition elements
Answer Key : C Your Response : D (Wrong)

Question No. 100

420 T 4/7ar T&EdT, 200 & 3/59 BEY ¥ fhdem 31fds &2
A)80 B)60
C)120 D)90

By how much is four-sevenths of 420 exceeds three-fifths of 200?

A)80 B)60
C)120 D)90
Answer Key : C Your Response : C (Correct)
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